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1 9-2%(5-10)+9=2 &
10—3*4+8=_(_9__’___
18-6%2= &
1043(2+6) = 39
50-10(4-2)+6= 3¢
209-3(6-1)+1= &
8+24+4%2=0
36+4(5-2)+6=33
30-3%4+2= Q0
4+6(8+2)-3= 51
100-10(2+3)+4=3Y

—_

20-4%2+3= )G
32x4'= 52L
27~256+4’=£
9+(5+3)" -144= 2
T+3x2':6= |5

A carpenter charges $10 per square foot to |
the customer has a coupon for $25 off the tof

9+6(8-5)= 22
(14=5)+(9-6)=2_
548+6+6-12%2
36-3+4

15-9+3 :l

:L

A caterer charges a setup fee of $50, and $20
if 35 people attend the party, and the custome

3+7(4)+16+2-4(3)=

5-3
m:8+4*3+l—(4”—1):
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